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MATRIX

Class-IX

PART I : PHYSICS

This section contains 10 Multiple Choice Questions (Q : 01 to Q : 10). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

1.

Which graph represents a state of rest for an

object ?

S

2]

(A)

Displacement —>

t Time —> i

Velocity —>

u
(B)
t Time = i
4/
fa
©
<
t Time —>
T 4
D) 2
[a)]
t Time —>

A boy standing at the top of a tower of 20 m
height drops a stone. Assuming g =10 ms™2,
the velocity with which it hits the ground is :
(A) 5.0m/s

(B) 10.0m/s

(C) 20.0m/s

(D) 40.0m/s

xxxxx (509221023 *##xx

3.

When a car driver travelling at a speed of
10m/s applies brakes and brings the car rest in
20 second then the retardation will be :

(A) +2m/s?

(B) 2m/s?

(C) —0.5m/s?

(D) +0.5m/s?

A force of 100 dyne acts on a mass of 5 gram
for 10 sec. The velocity produced is :

(A) 2000 cm/sec

(B) 200 cm/sec

(C) 20 cm/sec

(D) 2cm/sec

A gun fires a bullet of mass 50 g with a velocity
of 30 m sec™!. Because of this the gun is pushed
back with a velocity of 1 msec™!. The mass of
the gunis:

(A) 15kg

(B) 30kg

(C) 1.5kg

(D) 20kg

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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An electric fan continue to rotate for sometimes.
After current switched of :

(A) Momentum

(B) Unbalanced force

(C) Inertia

(D) Balanced force

Match Column — I with Column — IT and
select the correct answer using the codes

given below.

Column -1 Column - 1T

P. Change in velocity 1. Kgms™
per unit time

Q.Linearmomentum 2. Nxs

R. Impulse

Code:

3. ms?
R
1
2
1
2

Which of the following statement/s is/are

True(T) or False(F) ?

(i) Aecroplane always fly at low altitude.

(ii) Force is required to move a body
uniformly along a circle.

(iii) Newton's third law of motion is

applicable only when bodies in motion.

xxxxx (509221023 *##xx

Code :

() (i) (iii)
(A)T F F
B T T F
CF F T
D)yF T F

Paragsraph for Questions 09 & 10

When an object is in motion, its position
changes with time. So, the quantity that
describes how fast is the position changes with
respect to time and in what direction is given
by average velocity. It is defined as the change
in position or displacement (x) divided by the
time interval (t) in which that displacement
occurs. However, the quantity used to
describe the rate of motion over the actual
path is average speed. It is defined as the total
distance travelled by the object divided by
the total time.

A cyclistis moving on a circular track of a radius
of 40 m and completes halfa revolutionin40s.
Its average velocity (inm/s) is:

(A) zero

B) 2

(C) 4n

(D) 8=

Space for rough work
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10.  Average speed of a car between points A and
B is 20 m/s, between B and C is 15 m/s and
between C and D is 10 m/s. What is the

average speed between A and D, if the time
taken in the mentioned sections is 20s, 10s
and 5s, respectively ?

(A) 17.14m/s

B) 15m/s

(C) 10m/s

(D) 45m/s

xxxxx (509221023 *##xx
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This section contains 10 Multiple Choice Questions (Q : 11 to Q : 20). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

11.  Which of the following statement/s is /are 13.  Which of the following temperature is same
correct ? whether it is expressed in the Celsius or the
(1) The quality of air is expressed in ppm. Fahrenheit scale.
(i1) Supersaturated solutions contain more (A) —40°
solute then the solubility of that solute at the (B) —20°
particular temperature. (C) —10°
(iii)) Solubility of solid solutes does not (D) —30°
depend on temperature.
(iv) Solubility of gases in solvents depends upon 14 Whichof the following scts contains substances
which undergo sublimation ?

the pressure acting on the solution.

%
(A) Only (i) and (ii) are correct % (A) Soc.lium Chloride, Ammonium Chloride,
(B) Only (i) and (iii) are correct Q lodine
(C) Only (i), (ii) and (iv) are correct S (B) Dryice, Ammonium Chloride, Camphor
(D) Only (i), (ii) and (iii) are correct § (C) Naphthalene, Camphor, Potassium

o Chloride

12. A solution contains 5 mL of alcohol in 70 mL of % (D) Benzoic acid, Calcium chloride, Potassium
water. The volume by volume percentage of h Chloride
solution is
(A) 6.33% 15. Tincture of lodine has antiseptic properties. This
(B) 6.55% solution is made by dissolving :
(C) 6.66% (A) lodine in carbon tetrachloride
(D) 6.75% (B) Iodine in acetone

(C) Iodine in benzene

(D) Iodine inalcohol and water

Space for rough work
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During the separation of immiscible liquid-lig-
uid mixture by a separating funnel, the
following steps are followed. Arrange them ina
proper sequence-

(i) The nozzle tap is opened slowly and the
heavier component is allowed to trickle down.
(i1) The liquid-liquid mixture is poured into the
separating funnel clamped vertically.

(iii) The lighter component remains in the flask.
(iv) The mixture is allowed to stand where clear
layers of liquids are formed.

(v) The liquid with higher density settles down
at the bottom of the flask.

(A) (i), (v), (1) (v), (iii)

B) (@), (i), (i), (iv) (v)

(C) (@), (), (v), (1), (iii)

(D) (@v), (@), (i), (iii), (v)

Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column - 1T
1. Separating funnel

Column -1

P. Mixture of sand
and saw dust

Q. Mixture of oil 2. Fractional distillation
and water

R.Mixture ofalcohol 3. Gravity separation
and water

Code:

xxxxx (509221023 *##xx

18.

P QO R
A2 3 1
B)3 2 1
3 1 2
M2 1 3

Which of the following statement/s is/are

True(T) or False(F) ?

(i) Melting pointis the temperature at which
solid and liquid phases co-exist at one
atmosphere pressure.

(i) Melting point is the measure of strength
of the forces of attraction between
constituent particles.

(iii) During change of state from solid to
liquid, temperature remains constant.

Code :

@) (i) (iii)

(AT F F
BT T T
(OOF F T
MF T F

Paragraph for Questions 19 & 20

Diffusion is the phenomena of intermixing of
particles of two gaseous substances on their
own. Evaporation is the process of conversion
of a liquid into vapours at any temperature

below its boiling point.

Space for rough work
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Which one of the following sets of phenomena

would increase on raising the temperature ?

(A)

B)

©
D)

Diffusion, evaporation, compression of
gases

Evaporation, compression of gases,
solubility

Evaporation, diffusion, expansion of gases
Evaporation, solubility, diffusion,

compression of gases

In which of the following conditions, the

distance between the molecules of hydrogen gas

would increases ?

@

(i)

(i)

(iv)

(A)

(B)

©)
(D)

Increasing pressure on hydrogen gas
contained in a closed container.

Some hydrogen gas leaking out of the
container.

Increasing the volume of the container of
hydrogen gas.

Adding more hydrogen gas to the
container without increasing the volume of
the container.

(1) and (iii)

(1) and (iv)

(i) and (iii)

(il) and (iv)

xxxxx (509221023 *##xx

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




MATRIX

Class-IX

OLYMP!AD

PART III : BIOLOGY

This section contains 10 Multiple Choice Questions (Q : 21 to Q : 30). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

21.  Which of'the following is called “an organelle

within an organelle” ?
(A) Plastid

(B) Ribosome

(C) Lysosome

(D) Microsome

22.  Nucleolus was discovered by :
(A) Fontana
(B) Schleiden
(C) Altmann
(D) Robert Brown

23.  Identify human cells which lack nucleus.

(A) WBC
(B) RBC
(C) Musclecells
(D) Nervecells

24.  Xylem takes partin:

(A) Conduction of water in the plant body

(B) Conduction of food material
(C) Providing mechanical support
(D) Both(A)and(C)

xxxxx (509221023 *##xx

25.

26.

27.

Tissue that is absent in monocots is:
(A) Aerenchyma

(B) Chlorenchyma

(C) Collenchyma

(D) Sclerenchyma

The term tissue was given by
(A) Robert Hooke

(B) Leeuwenhoek

(C) Bichat

(D) Meyer

Match Column — I with Column — II and

select the correct answer using the codes

given below.

Column - IT
1. Store lipids

Column -1

P. Aleuroplasts

Q. Elaioplasts 2. Store protein
granules

R. Leucoplasts 3. Contain colourless
pigments.

Code :

P Q R

A2 1 3

B3 1 2

<3 2 1

D)2 3 1

Space for rough work
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28.  Which of the following statement/s is/are 29.  Label the part marked 1 to 4 in figure.

True(T) or False(F) ? (A) 1Tendon,?2 Muscle, 3 Ligament, 4 Bone
(i) Ribosomes are involved in protein (B) 1 Ligament, 2 Muscle, 3 Tendon, 4 Bone

synthesis. (C) 1 Tendon,2 Bone, 3 Ligament, 4 Muscle
(i) All cells have cell wall. (D) 1 Ligament,2 Bone, 3 Tendon, 4 Muscle
(iii) Fluid mosaic model of cell membrane was

30.  Ligament connects a bone with-

proposed by Singer and Nicolson

Code :

(i) (i) (iii)
AT F T
BT T T
O F F T
O)yF T F

Paragraph for Questions 29 & 30

Below diagram show four types of tissues, one
ofthem is skeletal connective tissue two are

dense connective tissue.

xxxxx (509221023 *##xx

(A) Skin

(B) Muscle

(C) Bone

(D) Both(B)and (C)

Space for rough work
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PART IV : MATHEMATICS

This section contains 30 Multiple Choice Questions (Q : 31 to Q : 60). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

31.  Anirrational number between 2 and 2.5 is : 3S. Students of a class are made to stand in rows.
A) 11 If one student is extra in a row, there would be
B) /5 2rows less. If one student is less in row, there
€) 2255 would be 3 rows more. Find number of
D) 125 students in the class.
(A) 17
32.  Findthe value of x, if 5"'=6(5%)—1. (B) 60
A) -1 (C) 120
B) 0 (D) 75
© 1 * |
(D) Both (A)and (B) % 36. The T/alue of k fo'r V\fthh the system of
e equation has no solution is :
33. Ifx=2+\/§,thenﬁndthevalueofX2+i2. g 2x -8y =3, kx+4y=10
X N (A) 2
(A) 10 S ®) 1
(B) 14 i (C) -1
(C) 18 * D) 2
(D) 20
37.  Theareaoftriangle formed by the points P (0,1),
34.  The distance between the graph of the Q(0,5)andR (3, 4) is -
equationy=-1andy=31is: (A) 165sq. unit
(A) 2units (B) 8 sq. unit
(B) 4units (C) 4sq. unit
(C) 3units (D) 6 sq. unit
(D) 1unit

Space for rough work
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The equation of a line that is parallel to x-axis 41.  Inthe given figure, which of the following is
and passing through the point (2,-5)is : correct ?
(A) y-5=0
B) x+y-5=0
(C) y+5=0
(D) 2x+5y=0
Ifthe point (a, 0), (0, b)and (1, 1) are collinear (A) AB||CD
then the value of i + N is: (B) EF||CD
A) 1 (C) Both(A)and (B)
B) 2 (D) None of these
©) 0 42. Supplementary angles are also called :
(D) -1 (A) Adjacent angles
x
In the given figure, if ‘a’ is greater than ‘b’ by % ®) Line.ar pair .
one third of a right angle then find the value of § (€) Vertically opposite angles
. S (D) None of these
N
§ 43.  IfADisanaltitude of anisosceles triangle ABC
C x inwhichAB=AC. Then:
; (A) BD=CD
< aAlb > (B) BD>CD
A B (C) BD<CD
(A) 100° (D) None of these
(B) 75°
(C) 70°
(D) 105°

Space for rough work
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44.  In the given figure, with the help of both

diagram, the measure of ZB’A’C’is :

A
6cm §
&
50°
B’ S5cm C
(A) 50°
(B) 60°
(C) 70°
(D) 80°
45. InaAABC,if AB=AC and BC is produced
to D such that ZACD = 100°, then the value of
ZAis:
(A) 20°
(B) 40°
(C) 60°
(D) 80°

xxxxx (509221023 *##xx

46.

47.

48.

49.

Ifp(x)=x—4,thenp (X)+ p(—x)isequal to:
(A) -8

B) 8

(C) 2x-8

(D) 2x+8

If x°' + 51is divided by x+1, then the
remainder s :

(A) 0

B) 1

(C) 49

(D) 50

(x+ 1) is a factor of the polynomial
(A) x*+3x3+3x>+x+1

B) xX*+x*+x+1

(C) x}+x>—x+1

D) x*+x*+x+1

If L —1(x,y # 0), then the value of
y X

X —ylis:
A) 1
B) 0
©) -1

1
) 5

Space for rough work
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The graph of y = p (x) is given below the 52. Match Column — I with Column — II and
number of zeros of polynomial p (x) is : select the correct answer using the codes
given below.
Column-1I Column - IT
1 2
P. If (a+—) =9 1. 8!
a
then the value of
1.
al+ — is:
(A) 0 a
B) 1 Q. /3273 2.1
(C) 2 R.(2°+ 7%° 3.18
(D) 3 Code :
: P QO R
Match Column — I with Column — IT and  §
. X A2 3 1
select the correct answer using the codes  *
)
. Q B)3 2 1
given below. o
b <3 1 2
Column -1 Column -I1 § M2 1 3
P. Factors of 1. 2x—-7)(3x+5) 9
¥ 53.  Match Column — I with Column — IT and
9x*-3x-20 § ‘
Q. Factors of 2. (3x—5) 3x +4) S('elect the correct answer using the codes
6x°— 11x 35 given below.
R.Factorsof (x*—81) 3. (x+3)(x—3)(x*+9) Column -1 Column —1IT
Code : P. Degree of x in 1. 0
P Q R polynomial
A2 1 3 Sxt+x3—4x2—
B3 1 2 2x+1is:
<3 2 1
Ddy2 3 1

Space for rough work
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Q. Distance of point 2. 4 55. Which of the following statement/s is/are
A (3, 8) from True(T) or False(F) ?
y—axisis () 2isgreaterthan’y3.
X 'y (i) Theliney=Xk s parallel to y -axis.
RIf-+>=2, 3.3 .
y X (iii) 41 and 43 are twin prime numbers.
then the value Code :
)2 ja e
of (x—y)*is: (i) (ii) (iii)
Code : (AYT F F
P QO R )T T T
A2 3 1 C©F F T
B3 1 2 O F T F
<3 2 1
M2 1 3 56.  Which of the following statement/s is/are

Which of the following statement/s is/are

True(T) or False(F) ?

(i) The sum of a rational and an irrational
number is always irrational.

(i) Square root of negative number does not
exist.

(iii) The degree of a quadratic polynomial is 3.

Code :
(i) (ii) (iii)

(AT F F
B)T T F
(OF F T
MF T F

xxxxx (509221023 *##xx

True(T) or False(F) ?
(i) Any point on y-axis is of the form (0, y).

(i) (x — 2y) is an example of binomial

polynomial.
(iii) (x —2)isa factor of (x>+2).
Code :
() (i) (iii)
(AT T F
BT T T
(©O)F F T
MD)F T F

Space for rough work
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Paragraph for Questions 57 & 58

From the given graph, answer the following

questions.

Areaof AAOBiis :
(A) 12sq.unit
(B) 18sq.unit
(C) 245sq.unit
(D) 65sq.unit

An equation of a line AB which passes through
the points A (0,4) and B (3,0) is :

(A) 4x—3y-12=0

(B) 4x-3y+12=0

(C) 4x+3y—-12=0

(D) x+y—-4=0

xxxxx (509221023 *##xx

59.

60 .

Paragraph for Questions 59 & 60

For a polynomial p (x) of degreen> 1, where n is
natural number, p (a) = 0 and a is a real
number then (x—a) is a factor of polynomial p ().
P (x) =x3-3x?+4 x — 12, then the value of p
(3)is:

(A) 0

B) 1

(©) -1

(D) 2

Find the value of k if (x—1) is a factor of
4x3+3x> 4 x t+k.

(A) 0

B) 1

(C) 3

(D) 2

Space for rough work
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PART V : LOGICAL REASONING & 1Q

This section contains 10 Multiple Choice Questions (Q : 61 to Q : 70). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

Direction (61-62) : In each of the following 64.
questions, a number series is given with
one term missing. Choose the correct
alternative that will continue the same
pattern and replace the question mark in
the given series.

61. 1.5,2.3,3.1,3.9,?

(A) 4.2
(B) 4.4
(C) 4.7
(D) 5.1

65.

62.  2,22,32,42,57,87,162,°?
(A) 387
(B) 356
(C) 365
(D) 378

xxxxx (509221023 *##xx

63.  Reenawalked 10 feet from A to B in the East.
Then she turned to the right and walked 3 feet. 66.
Again she turned to the right and walked 14
feet. Now how far is she from A ?
(A) 4 feet
(B) 5 feet
(C) 24 feet
(D) 27 feet

If South-East becomes North, North-East
becomes West and so on. What will West
become ?

(A) North-East

(B) North-West

(C) South-East

(D) South-West

In a row, Mukesh is at 6" place from the left
end and Pardeep is at 10" place from the right
end in a row of boys. If there are 3 boys
between Mukesh and Pardeep, then what
could be the minimum number of boys in the
row ?

(A) 21

(B) 23

(©) 11

(D) 25

Ram and Shyam are ranked 13" and 14"
respectively is a class of 23 students. What
are their ranks from the last respectively ?
(A) 10% 11t%

(B) 11%, 12t

(C) 11™ 10™

(D) 12%, 13t

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




67.

68.
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If L denotes ‘+’, M denotes ‘x’, P denotes
‘+’ and Q denotes ‘—’, then which of the
following statements is true ?

2
(A) 32P8L16Q4=—§
B) 9P9LIQIMI9=-T71

38
(C) 11M34L17Q8L3 ==

173
(D) 6M18Q26L13P7=—+

In the question below consists of a question
and two statements numbered I and II given
below it. You have to decide whether the data
provided in the statements are sufficient to
answer the question. Read both the
statements and give answer.

Question : How much was the total sale of

the company ?

Statement-I : The company sold 8000 units

of product A, each costing Rs. 25.

Statement-I1 : This company has no other

product line.

(A) The data in statement-I alone is sufficient
to answer the question.

(B) The datain statement-II alone is sufficient
to answer the question.

(C) The data in statement-I and statement-II
together are sufficient to answer the
questions.

(D) The data in neither statement-I nor
statement-I1 are sufficient to answer the

questions.
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Direction (69-70) : Six friends are sitting in a circle

69.

70.

and are facing the centre of the circle.
Deepa is between Prakash and Pankaj.
Preeti is between Mukesh and Lalit.
Prakash and Mukesh are opposite to each
other. Deepa is right to prakash.

Who is sitting immediate left to Prakash ?
(A) Mukesh

(B) Deepa

(C) Pankaj

(D) Lalit

Who is sitting immediate right to Pankaj ?
(A) Mukesh

(B) Lalit

(C) Prakash

(D) Preeti

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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